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Jan 14-8:26 AM

Polynomials

A polynomial is one term or the sum of

terms whole variables have whole
number exponents

5% + 1

Jan 23-3:33 PM
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Terms with polynomials

Remember:
Monomial: one term X =+
Binomial: two terms X+L S5 797 1

Trinomials: three terms X+49w-Y4
Variables: Letters

Coefficients: Numbers out in front of letters
Constant: the number all by itself

Degree: the highest exponent on a variable

Feb 1-9:22 AM

)
Warm Up

Copy warm-ups into your notebooks

1) Classify the following polynomials as either monomials, binomial or trinomial

Monomial ~ 9x’y v+2t  Binomial
Monomial 1] n Monomial
Triomial k-7+b 3+¢”  Binomial

2) What is the degree of the following polynomial? _degree 15

8x - 6+ 10x -9xX° + 10x!*

3) Rewrite the above in decending order

Ox"” + 10x"* + 8x° + 10x - 6

Feb 1-8:26 PM
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5XC+7XC-3x+3x%+9

This polynomial has a degree of __8 _, because
the yreurest exponentis _8 .

The term "+9" has a degree of __ O, because
there is no variable with it. It is called a "constant",
because this term will never change in value.

Certificate 1

Polynomials are written in descending order.

Each term is written
from the highest degree
to the lowest.

\13 0\:4 -ws 1 =7 A 2
5x°-3x*-x+7+4x
will be written as...

“3XHE5XC+4X%-x+T

Jan 23-6:22 PM
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IMPORTANT
13 \ |
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Polynomialsi

Which are polynomials?

W D3y I W3

3y
W

Jan 23-6:11 PM

Modelling Polyni

Write the algebraic expression that

represents each model.
Don't forget to write it properly!

+

; ¥
X

(-X.a‘\-(ox —Z) 4 (lxl-'jx_ +b )

Jan 23-6:38 PM
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Modelling Polyn

-5x* +2x-3 X*-x+1

a

4
%

Jan 23-6:38 PM

Warm \\n

27l M\

Copy warm-ups into your notebuoks

1) Classify the following polynomials as either monomials, binomial,
trinomials or none.

3x* + By 4_ZX7 Ox 2x° -5x -1

2) What is the degree of the following polynomial?
13x -11x"* + 8x” -9x'' - 5

3) Rewrite the above in decending order

Feb 1-8:26 PM
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4) Fill in the following
a) -4x°-7x* +12
Variables: X
Coefficients: -4

-
Constants: | 3L

Copy warm-ups into your notel s

b) 5x*+ 6y

Variables: , Lﬁ

Coefficients: § b

Constants:

o2

January 15, 2019

Feb 1-8:26 PM

Jan 24-10:07 AM
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EX) 4x2 +4x3+2x%?

Jan 24-1:55 PM

& ool e, 3

Like terms are -3¢ and 4x
(same letter with the same numerical exponent)

Unlike Termsare - and x  or arey?and t?

(either different letters and/or different numerical exponent)

Simplified Form
*fewest algebra tiles possible

*contains only one term of each degree and no terms with a zero
coefficient

Always simplify any polynomial by grouping like terms.

Simplify the following polynomial

Example: €CTREY-4%)
Step 1) Group like terms.
Always start with the largest exponent

P-4x*  -3x+lx  ~F + 5

—
Cax 7% -4

Ex) 3+4y+y+7

Jan 24-2:16 PM

January 15, 2019
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-

E—Qﬁ\ , [ 5

Jan 15-8:53 AM

Example 2) Ve @ polynomial o represent the perimeter of each rectangle.

Ax +|

An o+

P- (Qx+) £(2etD) 4% #x
= AL+ rx Trx 1+l

= br +7L

/3,: b v

= v (A =0)
= Ax X

X =5
P= LEYRL
= 3

N = 21e) S

— L@ +5S
Jan 24-2:48 PM
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Area

January 15, 2019

Yx Y
V
4x ) “x
Ir+5 \
P=dxbtx +5x +4x +9x +9x A= 43 (%)
L545 = 324>
P=234x 1o A= um\
= 2ex" t28x
Toaz 3t
+ a0l
+20x
A= 52+ 20x
A=7 =
D L
F=34Q) +10| A=510
+200
= 7%
= 5 LW +4
= 143
Jan 21-8:36 AM
Yx
$x
BX + S
Y%

Jan 21-8:36 AM
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Section 5.3
Adding Polynomials

N
(6x° +2x + 9)@@ 4x - 5)

o rax +o =B +4x =5

xE ot v+ v

(97\'2'_.?3)8 + Ax +4y FA-5

Feb 5-9:45 PM

don't copy
We can solve the question with or without algebra tiles.
Tiles No Tiles
Display 6x° +2x + 9 The sum is:

(62 +2x + 9) + (-3x% + 4x - 5)
- - 5

This is written as:
6x2 +2x +9-3x* +4x-5

©® *o
Display: -3x° + 4x - 5

Combine the displays. GG;Zoug;ike tem:f: 5
D - 342X +4x + 9 -
(Group like Tiles) (@ o) M

Remove Zero Pairs.

Combine like terms:
3 +6x+4

The remaining tiles represent

33X+ 6x+4

Feb 5-9:48 PM
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@Xa +bx - 5> @o)’a

?)X’L +lsX-5 +LX:L—-|O)C —“+ 2L

Jan 10-11:18 AM

Copy
Adding Polynomials Without Tiles

understood +1 in front of second bracket so distribute through

Add: (5c-11) + (-4@ + ¢ +7)

We can add the polynomials by adding the coefficients of the like terms.
We can do this in two different ways:

Method 1:

Add horizontally:

(5¢ - 11) + (-4& + ¢ + 7)Remove the brackets.

5¢ - 11 - 4& + ¢ + 7Group like terms.

= -4¢ + 5c + ¢ - 11 + TTombine like terms by adding
their coefficients
(remember that ¢ has a coefficient of 1!)

=42 +6c-4

Feb 5-10:27 PM
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skip this

Method 2:

Add vertically. Line up the like terms, then add their
coefficients.

5c - 11
+ -4c’+ c +7
_-4c*+6¢c -4

So, (5¢c-11) + (-4¢c* + c +7) = -4c*+6¢C -4

Feb 6-11:32 AM

Adding Polynomials in Two Variables

Add: (3s°+ s - 4c - 5cs + 25°) + (-5 + 3cs + 6C - 4s + 7C)

Remove Brackets.

=3s’+s-4c-5cs +2s?-5c¢%+ 3cs+ 6¢-4s + 7¢?

Group like terms.

=3s’+2s’+s-4s-4¢c + 6¢- 5cs + 3cs- 562 + 7¢2

Combine like terms.

= 5s?-3s+ 2c- 2cs + 2¢?

Feb 5-10:28 PM
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Create a Polynomial that

adds to give 4x* +6x -4

When given:

2X% 42X -6

Feb 8-8:51 AM

1) If the sum of two polynomials is 3x5x +7
and one polynomial is the following, determine

the other polynomial.

a) -7x* +6x -2 b) 12x* - 18x

2) Make two shapes that corresponds to each
given perimeter

a) P=3x +11 b) P=12x + 10

Feb 8-8:08 PM
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Feb 8-8:24 PM

You Try

Feb 8-7:37 PM

14
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'(\(\.\6\ 2
<1 (BX*-4x+2)-(-8x-9x+2)

Remove to

" reveal

the answer:

Feb 8-6:35 PM

Feb 6-5:09 PM
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Try these:

@ 27)

6x — (gﬁ +2

36p + 450 - 81
9

3P 4 45

A q

LIP + 5% -9

(30m - 15a + 9t - 54h) : (-3

6z-9)

(11y2 - 8y + 10)(5

(492-7) = (7)

-8l

q

)

Feb 6-6:25 PM

.

<“&x> (-3x * 5%% -

FX - 10 X + X
ory + 13xy = 15 Xi_‘s_’
Axy
3oxy + lgx.? ,\‘57(_1\3

3%y

3xy

Dxy

P R

Jan 10-11:29 AM
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L1aSS/HOMEWDIas
Pg 259 - 261
#6
25192 . Check Answers in
a,
#14 3 back of textbook
#15a,b,c, d
#19 a
#22 a,c,hk,l
#26 a,c,e,g
#28 b, d, f
Feb 21-9:58 AM
'S
— [dx S+ 6%
xn
) x

Jan 10-11:33 AM
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Jan 10-11:35 AM

Jan 10-11:28 AM
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gection § .
Multiplying and Dividing a
Polynomial by a Monomial

2% Gx + 1) Area=Lx W
Is this possible?
3x+1
2x
Feb 7-8:34 PM
SOME REVIEW
Laws of Exponents
Remember... b* > “braised to the power of x” where, b — base

#1. PRODUCT - when multiplying...
"if the base is the same, then ADD the exponents."
Exampld erorpPe @

(3}’)(35) By 1 = pHR (7(6) SKS)

#2. QUOTIENT - when dividing...
"if the base is the same, then SUBTRACT the exponents."

exa mpleg example

&) o,

= ) -
(")

@) (Y -

Feb 7-9:09 PM

19
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s i o i
W Note:

Multiply coefficients

with coefficients and

variables with variables

-
Foltow exponent laws for variable with the same base

(11)(5y) (Tm)(sm)  (8m) (4mx)

January 15, 2019

6y2 ° 7y3
= 42y5 @W ‘
Feb 7-9:16 PM
D a Moot By oo

Note:
Divide coefficients with
coefficients and
variables with variables

Follow exponent laws for variable with the same base

1) -8x 2) 150y
2 X 25y

Feb 7-8:51 PM

20
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You Try!

1) 72x-48x
12x

Feb 13-11:25 PM

Feb 12-3:18 PM

21



Algebra Tiles

Multiplication

(-2X) (4x)

Feb 12-3:18 PM

Algebra Tiles

pivision  (-6X* ")
(3x)

> HHEB
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Jan 15-9:18 AM
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